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Instructions: Write your answers to the following 5 question items in the answer book
provided. Be sure to clearly mark the number of question items.

1. Define the following linguistic terms: 20%

(a) Great Vowel Shift (b) back-formation - (c) diacritics
(d) idiom o (e) bound root
2. Formulate a'-phonological rule, using alpha variables to account for the
assimilation process that occurs in casual English speech'of the data below. 20%

good griéf TLev'grif]  good game [,gv'g:&€m] good bye [,gu'b:ai]
unknown [x'n:Gn]} ill-looking [,I'l: vkin] solely ['sol:1]
ratteeth [re't:0]  milkcan ['milk:%n]  Chri$tmas sale ['krisma's:et]

3. Based on the following examples, formulate a generalized phonological rule,
using formal conventions. This rule accounts for the glottalizing of an alveolar
stop in some d1rccts of American English,. 20%

Areport [r'p o 1?t] giant ['dsain?t] tale  [tel] steady ['sted1]
matter ['meate-] witness ['\"vr?tnas] attack [s'tek] night owl [nar'tavl]
atlas [=?tlss] heartache [hartek] wait patiently ~ [we?t'pe § n2tly]

4, 26 English orthographic symbols, segmental letters, implicitly bear some sound
patterns identical to those for monosyllabic words. Formulate a phonological rule
for sound patterns, using feature specifications. 20%

5 vowel letters: A fe] E[] I[ag O [o] U [ju]
21 consonant letters: B [bi] C [si] D [di] F [ef] G [dxi]
H [et] J [dse] K {ke] L [el] M [Em]
N [En] P [pi] Qfkju] RJar] S [es]
T (ti] W ['dablju] X [eks] Y [wa] Z [z, zed]

Hints: B, be and bee are homophones, while C, see and sea are homonymous.

5. Draw tree diagréms to account for the derivation of the sentence indicated,
beginning with the deep structure and ending in the surface structure by applying
relevant transformational operations. 20%

 What was broken by the child?
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